Example
Now, shown below, a numerical example of RCA.

It is based on assumptions concerning a manufacturing firm, but I remind you it is adaptable also to service businesses.

Actual Data
	
	Actual costs
	
	
	
	

	
	
	
	
	
	

	Industrial Overh.
	$
	
	
	
	

	
	
	
	
	
	

	Wages
	27.000,00
	
	
	
	

	
	
	
	
	
	

	External Consultancies
	2000,00
	
	
	
	

	
	
	
	
	
	

	Depreciation
	16.000,00
	
	
	
	

	
	
	
	
	
	

	Power
	2.000,00
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Indirect Material & Equp.
	20.000,00
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Total
	67.000,00
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Resource Pools
	$
	Fixed
	Variable
	
	

	
	
	
	
	
	

	Labour
	29.000,00
	13000
	16000
	
	

	
	
	
	
	
	

	Machines
	18.000,00
	13500
	2500
	
	

	
	
	
	
	
	

	Ind Material & Equip
	20.000,00
	
	20000
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Resource Pools
	Resource drivers
	Heads
	
	
	

	
	
	
	
	
	

	Labour
	Labour hours
	13
	
	
	

	
	
	
	
	
	

	Machines
	Mach hours
	
	
	
	

	
	
	
	
	
	

	Ind Material & Equip
	Kg
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Industrial Activities 
	Products
	Used capacity rate (for calculation easiness)
	
	

	1
	A 
	0,80%
	
	
	

	2
	B
	
	
	
	

	3
	C
	
	
	
	

	
	
	
	
	
	

	Calculation of the Cost ratios

	
	
	
	
	

	The Fixed costs are distributed only according the theoretical Capacity
	
	
	
	
	

	
	
	
	
	
	

	Resource Pools
	Theor Cap
	Used Cap
	Fixed Cost Ratio
	Var Cost Ratio
	

	Labour
	3120
	2496
	4,17
	6,41
	

	Machines
	2160
	1728
	6,25
	1,45
	

	Ind Mat & Equip
	
	7000
	
	2,86
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Lab Fixed Cost Ratio
	Labour Fixed Cost/Labour Theoretical Capacity 
	4,17
	

	
	
	
	
	
	

	Lab Variable Cost Ratio
	Labour Variable Cost/Labour Used Capacity
	6,41
	

	
	
	
	
	
	

	Machine Fixed Cost Ratio
	Machine Fixed Cost/Machine Theor Capacity 
	6,25
	

	
	
	
	
	
	

	Machine Variable Cost Ratio
	Machine Var Cost/Machine Used Capacity 
	1,45
	

	
	
	
	
	
	

	Ind. Mat. & Eq. Fixed Cost Ratio
	Ind. Mat. & Eq. Fixed Cost/ Ind. Mat. & Eq. Theor Capac. 
	0
	

	
	
	
	
	
	

	Ind.Mat. & Eq.Var Cost Ratio
	Ind.Mat. & Eq. Var Cost/Ind. Mat.&  Eq. Used Capac.
	2,86
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Resource consump by  Activ
	
	
	
	
	

	
	
	
	
	
	

	Activities
	Cycle time in minutes
	Workforce by Activ
	
	
	

	1
	2
	6
	
	
	

	2
	3
	5
	
	
	

	3
	1
	2
	
	
	

	Total
	6
	13
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Resource Pools
	activ 1
	Activ  2
	Activ 3
	Total
	

	Labour hrs (a)
	1152
	960
	384
	2496
	

	Machines hrs (b)
	576
	864
	288
	1728
	

	Ind Mat & Equip Kg ©
	2899
	2400
	1701
	7000
	

	
	
	
	
	
	

	
	
	
	
	
	

	a
	Used capac/Total Workforce* Dpt Workforce
	
	

	b
	*Used capac/Total CycleTime* Dpt CycleTime
	
	

	c
	According to the actual report
	
	
	

	
	
	
	
	
	

	Activity  costs by res pool
	
	
	
	
	

	
	
	
	
	
	

	Resource Pools
	Activ 1 $
	Activ  2 $
	Activ 3 $
	Total $
	

	Labour 
	12185 (d)
	10154
	4062
	26400
	

	Machines 
	4433 (e)
	6650
	2217
	13300
	

	Indirect Material & Equipment
	8283 (f)
	6857
	4860
	20000
	

	Total
	24901
	23661
	11138
	59700
	

	
	
	
	
	
	

	d
	Act Lab hrs * Lab Fix Cost ratio + Act Lab hrs *Lab Var cost  ratio
	

	e
	Act Mac hrs * Mach Fix Cos ratio + Act Mac hrs *Mach Var cost ratio
	

	f
	Act Ind M hrs * Ind Mat  Fix Cost ratio + Act Lab hrs * Ind Mat  Var cost ratio

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Product amount in each activ
	
	
	
	

	
	
	
	
	
	

	Activities 
	Cost drivers
	Product A      
	Product B
	Product C
	Total

	1
	Prod amount
	3000
	2500
	1800
	7300

	2
	Prod amount
	3000
	2500
	1800
	7300

	3
	Prod amount
	3000
	2500
	1800
	7300

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Activ Costs to the Prod
	
	
	
	
	

	
	Alloc ratio (g)
	Prod A (h)
	Prod B (i)
	Prod C (l)      
	

	
	
	
	
	
	Total

	Activities 
	
	
	
	
	

	1
	3,41
	10233
	8528
	6140
	24901

	2
	3,24
	9724
	8103
	5834
	23661

	3
	1,53
	4577
	3814
	2746
	11138

	Total
	
	24534
	20445
	14721
	59700

	
	
	
	
	
	

	
	
	
	
	
	

	g
	Tot Act costs/tot Act cost drivers
	
	
	

	h
	Act Alloc ratio *Prod A amount into Act Pool 
	
	
	

	i
	Act Alloc ratio *Prod B amount into Act Pool 
	
	
	

	l
	Act Alloc ratio *Prod C amount into Act Pool 
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Capacity Costs by Res Pool
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	Resource Pool
	Actual Costs
	Allocated Costs
	Idle Capac Costs
	
	

	Labour 
	29000
	26400
	2600
	
	

	Machines *
	18000
	13300
	4700
	
	

	Indirect Material & Equipment
	20000
	20000
	0
	
	

	Total
	67000
	59700
	7300
	
	


